
Solution for 1.4 The Pairs (Answer = BAHT) 
Consider each pair of pictures. The word corresponding to each picture on 

the left has one more letter than the word corresponding to the picture on 

the right.  

PICTURES ON LEFT     PICTURES ON RIGHT     SURPLUS LETTER 

stand                sand                  t 

helm                 elm                   h 

chain                chin                  a 

stair                star                  i 

mice                 ice                   m 

coast                cast                  o 

window               widow                 n 

stage                stag                  e 

fairy                fair                  y 

 

and "thai money" is the "baht" 

 


